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Note :—
1. Part ‘A’ may be attempted in first § pages of Answer Sheet.
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2. Part 'B'in rest of the Sheets of Answer Sheel.
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3. Answers may be given in Enghish or Hindl.
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PART - A
1. Attempt any 10 questions: {10 x 2 = 20)

(i) Ewplain Fleming's Left Hand Rulg
(i What is Voltage Regulation in a transformer2
(i) Draw the phasor diagram of a series R-L-C circuit with lagging powee factor.
(¥ Write relationship between Phase Voltage and Line Voltage.
(v Mame the instruments used for measurement of power and D.C. current.
(vii Write relationship between effective value and from factor
{¥ii) Draw a neat circuil diagram of a long-shunt D.C. compound motor,
[viii) Define commutation pracess in D.C. generator.
(i Write applications of Zener diodes.
{x) Write a relationship between rotor fr:quency and slip, poles.
{xi) Explain clearly the meaning of disir-irbuticm factor.
{xii) Brerive an expression for the induced e.m.f. of a transformer.
(xiiy Rescribe the advantages & applications of Mi-type instruments.
(xiv) State the advantages of a three-phase system over a single-phase systém,
2. Attempt any 5 questions: {5 x 4 = 20)
(i) State Kirchhoff's Law as applied to an electrical circuit.

() Calculate the highest speed at which a 60Hz alternator can be operated.

(i What are different types of ‘Constant losses’ in a transformer.?
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»1 State Faraday's Laws of electromagnetic Indiuction.

(v) Write applications of a D.C. series motor.

{vi) Discuss the construction details of single-phase transformer,

{vii) Discuss the uses of PNP transistor.

(vili) Describe the principle of single-phase induction motor.

PART- B

Attempt any 3 questions: (3 % 20 = 60)

3. (i)

%
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fa

(1)

{ii)

Explain the principle of operation and construction details D\i—phase induction motor.
Esxplain power factor and iis signification. Also write use of capacitor in an AC circuit.
Derive the condition of maximum efficiency in a transformer.

Draw the characteristics of thysistor.

Deduce an expression for the frequency of motor=current in an induction motor.

Draw the V-curves of a synchronous motor.

Draw the neat sketch of a D.C. generator. State the functions of each part.

Sketch the spead-load characteristics of a D.C. shunt and commulative compound
motor.

7. Write Short Notes on;

(1)

Isolation Transformer.

{ii) Starting of single-phase induction motors.

(fi} Applications of D.C. machines.

{iv)

Advantages of 3-phase system over single-phase system.
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